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MARKETING MANAGEMENT AND HUMAN RESOURCE MANAGEMENT

Time Allotted: 2 Hours Full Marks: 50

* The figures in the margin indicate marks of question. 2NF T TG TG Q097 7 e I
Candidates should answer in their own words AT [cers SrGT I T FHNAR T

and adhere to the word limit as practicable. eq fire 231

GROUP-A
Rept-=
1. Answer any five questions from the foll'owing: 2x5=10
e @-eat «iefe eives Tes wies
(a) Define Marketing Management.
fReida IR Rl 7|
(b) What is Branding?
2y e [ 2
(c) Define Advertisement.
feateit el wis)
(d) Define Job Evaluation.
T EURTE K@ we
(e) What is Training?
el 3 2
(f) Name any two elements of marketing mix.
Roterm e -t 4fo e Srae vt
(g) Define Human Resource Planning.
S 3 SARFEAR T e |
(h) What is Job Analysis?
> Rregd 1 9
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Answer any four questions from the following:
fAsfERe Q- s1afp et Teg wes

(a) Distinguish between Training and Development.
aiffrel @ TR ey AL e 3w

(b) Discuss the role of Sales Promotion.

Repx Frepiace g SiAs 3t

(¢) Discuss the Micro-environment factors of marketing,.
Retefea et #AfReeaa Sotwimefe Sizam-t S

(d) State the objectives of Pricing.
o1 fdiaem Sl Soa

(e) Discuss the importance of Packaging.
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(D Discuss the objectives of Human Resource Planning.
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3. Answer any fwo questions from the following:
fsfeis -l 45 e Teq e
(a) Discuss the various elements of Marketing Mix.
fRivtert et RfSw Seimemesfer szt wcatt
(b) What is Marketing? What is Selling? Distinguish between them.
faoem & 7 Rern 6 2 Saws vy e Forrote szt
(c) Discuss the concept of Industrial Relations and describe the factors influencing it.
T3 32T 419 1 R @3 aft ereiiie w0 v R St =@

(d) Define Personnel management and Human Resource M istinoni
ana
between them. gement. Distinguish
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